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SR | B (M| oo | R | e e R |k | R |
% AR |t | B WER | &R ZiH b | & | B8 | &5
il I EE 305 | 1000 [ mgl | 7 | - | %
y;%i@ TR 786 | 1 |[mgL| w | - | &
EZJZ%( Vi 152 | 10 [mgl| & | - | 2
% (ZD-
c;ng BAE 207 | 02 |mgL| ® | - | &
pH{E 7.2 6-9 [LEHN & - =
ﬁﬁNgNH& 0028 | 5 |mgL| = | - | &
R 0.08 1 |moL| s | - | &
N L <10 1000 | AL | w | - | &
.- s H AR 8 |50 |mgL| &w | - | =
E \
= A 0005 | 005 |mgL| w | - | &
Y | b 2022| ik <006 | 1 |mgL| w | - | &
W% % | TS5 | -03- —
== = /s
j“\% Kip |kl 2g | T-HAREH 09 | 10 |mgL| & | - | &
‘E% 0| g =
m WIHRI IR 6 10 | mglL | & - &
N FrifE — -
) B ?ﬂgfﬁﬂgf 007 | 05 |mgL| # | - | &
18918 A
- ISWN 71k 2 <10 3 ML | A - =&
2002)
B (BANT 3.82 15 |mglL| & - v
B <0.005 | 0.01 |mgL| # | - | =
oy <003 | 01 [mglL | % - K&
S <0.0000 [ 0.001 | mgL | w | - | =&
S CBAPT) 0.12 0.5 | mglL| & - =
AT <0.07 [ 01 | mglL| 7 - &
i <0.0003| 01 |mgL| & | - | &




20224 | - AF i 11T 5 5 Gt 7K ) Aol b 0 cdhs o A% &

e WA AT | B BEOM (B 0 | FR L7 7 | 2
BE| e | e Ew| TEEE | pm San || o | | | s | B

pH1H 6.90 665 | 6-9 |LEH| & - B

A (NH3- | 232 1.46 8 [mglL| & - 7

S 0.75 | 0.06< 3 |mgl| & - 7

e FAMmEEE |46000000 <20 [ 1000 | ML | - B

g %S—éﬁ'%%ui 66 15 60 [ mglL| & - B

i AN 0.004< | 0.004< | 0.05 | mg/L | 7 - 2

o et o5 16 4 30 f& %5 - i

o) - ?%I\f% VariE S 0.06< | 0.06< 3 | mgL| % - )

AR | (= %ﬂi;i; 2022 f H R 0.00003[0.00003] 0 [mglL| % _ I

@m #) 51 01-| LHAMTEER | 29.8 45 20 [mglL| % - =

Lﬁlrél] 7J<3‘éi5b‘5( (GB 04 :gygaqc@ 119 6 20 | mglL | % - 2

ok 18918 P& FRimaE | 329 | 0.05< 1 |mgl| & - B

e -2002) M (BIN3E) [ 33.0 8.57 20 | mglL| % - 2

r 4 0.00009[ 0.00009 | 0.01 | mgiL | # - I

,ﬁéf Mk 0.0002<| 0.0002<| 0.1 | mglL | % - 7

MR 0.00014| 0.00004 | 0.001 | mg/L | % - B

S (DIPT) | 5.12 0.16 1 mg/lL [ & - &

S 0.0007<| 0.0007<| 0.1 | mg/lL | & - 2

pEy i 0.0016 | 0.0008 | 0.1 | mg/lL | 7 - 7

pH1E 7.26 6.98 | 6-9 |LEH = - B

A% (NH3- | 274 | 0.175 8 |mglL| & - 2

S 0.40 | 0.06< 3 | mgL| % - 2

FAMpERE |51000000 <20 [ 1000 | ML | 7 - 7

. HA=L—t-§ 147 12 60 | mg/lL| & - 2

KA AR 0.004< | 0.004< | 0.05 | mg/L | # - 7

;%@ W [EaNEs 16 4 30 % 4 - &

ﬁ;y)@ 7}@5;% yabiES 0.06< | 0.06< 3 |mgl| & - 2

" Kk ;;J %?E o022|  meEEE 0.00003|0.00003| / |mgL| % - I

T ekt | 770X) o1- [ RAZERGER | 662 | 36 | 2 7

a9 e | 01 2 ' 0 {mobl & L - | &

w0 (GB By 117 6 20 | mglL | # - 2

\ﬁfj{f 18918 P 7RG | 298 | 0.05< 1 | mgll| % - 2

;}:g -2002) M (LINi | 37.9 5.13 20 [ mglL| # - 7

e ke 0.00009[ 0.00009| 0.01 | mglL | # - 2

pey:d 0.0002<| 0.0002<| 0.1 | mg/lL | % - 2

MR 0.00014| 0.00006 | 0.001 | mg/L | 7 - 7

B (LAPi) | 2.76 0.08 1 | mgb| & - 2

S 0.0007<| 0.0007<| 0.1 | mg/lL | % - 2

S 0.0013 | 0.0005 [ 0.1 | mglL | # - )
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gﬁ W | AT | B BB 4T RECUL |t ORI BRI IRMER | R | fhr | R P
# £ | bl [BH MER| 48 | & | X | 8K | B% |35
pHIH 697 | 661 | 6-9 |T&EH 7 | - &
& (NH3- | 303 3.38 8 |mglL| 7 - 2
R 030 [ 006< | 3 |[mgL| 7 | - &
H KRt 58000000 <20 | 1000 | AML | #m | - &
gE 2R 96 27 60 | mgL| 7 - =
Tk N 0.004< [ 0.004< | 0.05 [ mglL | 7 | - 2
54 LS (o 16 4130 | A -]k
BR 2> KAk FR PERIES 0.06< | 0.06< | 3 |mgL| & | - JE
@ . V5% 5000 kisk  [0.00003[0.00003 |[AEE] mg/l | m | - 2
D< %J;’E *?f;g -81- ﬁa%it%?ﬁ 432 8 20 |mgl| & | - | &
A (GB By 114 7 20 |mgL| & | - 2
15 18918 Fis73&mys | 3.41 | 0.05< 1 | mgL| % - =
KA -2002) M (LINGE) | 54.3 12.2 20 | mglL | % - R
f%; Ak 0.00009[0.00009] 0.01 [mgL| = | - | =
) Bk 0.0002<[0.0002<| 0.1 |[mgL | 7# | - &
Bk 0.00052( 0.00008 | 0.001 | mg/L | 7 | - 2
S (DIPT | 4.3 0.23 1 mg/lL [ & - &
B 0.0007<[ 0.0007<| 0.1 [mgL | # | - JE
eyt 0.0017 [ 0.0008 | 0.1 [mglL| 7% | - &
pHI{H 694 | 710 | 69 |kEH| # | - &
2% (NH3- | 230 | 0.626 8 |mgl| 7 - B
R 0.07 | 0.06< 1 |mgL| 5 | - 2
FK W iEesr |[4800000] <20 | 1000 | AL | m | - =
2 90 12 50 |mgL| % | - JE
- NS 0.004< [ 0.004< | 0.05 [ mglL | 7 | - &
e LS O 16 AN I S A N =
MR | o RS Fihk 006< | 0.06< | 1 |mgh| % | - | £
RGN k|l TR o000 kedEk  [0-00003] 0.00003[0.0000 mgil [ 7 |- B
E%‘E 75 *?fﬁg 01-| HAZEWER | 408 | 35 | 10 |mgl| & | - | &
ek IR (GB 05 By 110 6 10 | mglL| & - 2
weim| T [18918 s rRER | 292 | 005< | 05 [mgL| 7 | - 2
KAk -2002) M (LINi) | 3342 | 7.78 15 | mg/lL | % - 2
B g 0.00009] 0.00009| 0.01 [ mgL | 7 | - &
Jsy 0.0002<[0.0002<| 0.1 [mgL | # | - B
Bk 0.0001 [ 0.00008| 0.001 [ mg/L | 7 | - &
BB (P | 276 | 008 | 05 |mgL| 7 | - 2
B 0.0007<[ 0.0007<| 0.1 |[mgL | 7 | - 2
Jeyc 0.002 | 0.0008 | 0.1 |mglL | & | - JE
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O | gy || oo | R | mn R R R | Bk | RE |
% 2 | e | B# MER | &R {i=A fr | @t | 58| &5
pHIE 691 | 758 | 69 |x&d| & | - | &
ZA (NH3- | 282 | 0158 | 5 |mgll| & | - | =
S | 184 | 006< | 1 |mgl| & | - | &
Je KGR | 500000 <20 | 1000 | AL | & | - | &
R | 396 3% | 50 |mgll| & | - | &
s | 0.004< | 0.004< | 005 | mgll | & | - | &
R 16 4 30 ¥ 3 - &
- e 019 | 006< | 1 |mgl| & | - | &
L T e Jiki:  |0.00003] 0.00003| 0 |mgl| & | - | &
”%% %ﬂjﬁ s 28$2 HOAfHA| 178 | 94 | 10 [mgl| & | - | &
Sy e (G7E:3f39 07 ?%Y#% ‘ 110 6 10 [ mglL| & - &
e 1568 PIB TG | 226 | 005< | 05 |mgll| & | - | &
BAE (UNiD | 372 | 272 | 15 |mol| & | - | &
Wk |0.00009]0.00009| 0.01 | mglL | & | - | &
Bk |0.0002<|0.0002<| 041 |mgL| & | - | &
B  |0.00012|0.00004 ] 0.001 | mgL | & | - | &
“mE (DPHO | 077 | 041 | 05 |mol| & | - | &
L& |0.0007<| 0.0007<| 041 |mgL| & | - | &
K 0.0006 |0.0003<| 01 |mgL| & | - | &
A 1.62 2.73 10 | mglL| 7 - 7
pHIE 698 | 660 | 69 |xmH| & | - | &
ZH (NH3- | 455 | 124 | 8 |mgl| & | - | &
Al | 218 | 078 | 3 |mgl| & | - | &
. Y AMmEaE 67000000 <20 | 1000 | AL | & | - | &
Ko s | 186 | 22 | 60 |mgl| m | - |
1 s | 0.004< | 0.004< | 005 | mgll | & | - | &
o T i 6 | 4 |30 | @& | & -]k
a | 7&@?@ VRS 0.06< | 0.06< 3 |mglL| & - =

= ) TE SR Jo o

At | (= |/ 15%{ o000 ek [0.00000[0.00000] 0 |mgl| & | - | &
g | v | P s [ | 70 62 | 20 |mgl| & | - | &
i | ks B 2 T e |7 | 20 [mol| & 2
| (eB i/ mgl| w [ - | &
g'ﬂ( 18918 BB T miE | 3.69 | 0.05< 1 |ImgL| = | - | &
o -2002) B (LN | 674 | 277 | 20 |mgl| & | - | &
= Wk |0.00009]0.00009| 0.01 | mglL | & | - | &
(— Bk |0.0002<| 0.0002<| 041 |mgL| & | - | &
) = 0.00004( 0.00004 | 0.001 | mg/L | # - B
“mE (DPH) | 556 | 010 | 1 |mol| & | - | &
uE |0.0007<| 0.0007<| 041 |mgL| & | - | &
il 0.0012 | 00006 | 01 |mgL| & | - | &
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O W | 44T | e HEOW | 0|45 %
i i| B e e P | PR R FRAE 8| BT | @t | RS X
# ZF | trikE | B MER | &R (=l fr | &b | % | 25 B
pH{H 762 | 704 | 69 |4 x| - | 2
A% (NH3- | 264 | 0.196 8 |mglL| & - &
S 210 [ 006< [ 3 [mgL| m | - | =
KM |50000000 <20 [1000 | AL | m | - | &
e i | 194 16 60 |mo| =% | - | &
K% AN 0.004< | 0.004< | 005 [mgL| % | - | &
i G iz 16 | 4 |30 [ @ |#s]-]#
%Y)ﬁ AR fimze | 0o6< [ 006< | 3 [mgL| w | - | &
M| s iR o000 kedok  ]0.00000{0.00000( / [moL| m | - | =
e e YN e
e v T | 876 4.3 20 [mall| ® | - g
AT g | PR 4 = p =
AN (GB I 114 7 20 [mglL| % - 7
ik 18918 PIgs RS | 3.03 | 005< | 1 |mgl| ® | - | &
i}iﬁ -2002) HE (UNiD | 477 5.15 20 | mglL | % - B
e oy 0.00009] 0.00009| 0.01 | mglL | & | - | &
Bk 0.0002<|0.0002<| 0.1 |mgL| = | - | &
EPs 0.00007|0.00004| 0.001 [ mgiL | = | - | &
MR (LPi | 429 | 014 1 [mog| w5 | - | &
A 0.0007<|0.0007<| 0.1 |moL| & | - | &
S 0.0013 | 0.0006 | 0.1 {mgL | 7 | - | &
pH1H 8.14 7.89 6-9 |LEH & - i
Z% (NH3- | 2092 | 0085 | 8 |[mgL| & | - | &2
B 0.06< | 0.06< 3 |mgL| 7 i I
#Kmwee |52000000 <20 [1000 | AL | m | - | &
. o A 180 6 60 | mg/lL [ & - &
b A 0.004< | 0.004< | 005 [mgL| = | - | &
K WA faNic 16 4 30 (% = i =
% 7J<§g#§% SRS 0.23 0.06 3 |mgL| %= - 2
HIE y J V5% 5000 gk |0.000000.00000] 0 |mal | w | - =
e BN AL o ey mroys - =
L | ki ot = it . 1.5 20 [ mglL| & - =
ﬁF?‘EH (GB BV 110 6 20 | mglL| % - B
ik 18918 plesr&mE | 294 | 005< [ 1 [moL| w | - | &2
st -2002) BAE (UNiD | 276 | 109 | 20 |mol| & | - | &
) A 0.00009| 0.00009| 0.01 | mglL | & | - | &
Bk 0.0002<|0.0002<| 0.1 |moL| & | - | &
B 0.0004<| 0.00004| 0.001 [ mgiL | = | - | &
S (DIP) | 213 0.10 1 mg/L | % - B
A 0.0007<|0.0007<| 0.1 |mgL | = | - | &
Y 0.0010 | 0.0006 | 0.1 {mgL | 7 | - | &
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% 2% | ek | B8 MER | 4R il fr | & | 5% | &5
pHIH 752 | 704 | 69 [km#M| & | - | &
A% (NH3- | 189 | 0.169 8 |mglL| & - &
S | 073 | 006< | 3 |mgl| w | - | 2
Amriae 44000000 <20 [1000 | AL | w5 | - | &
WEma i | 144 31 60 |moL| 5 | - | &
| N 0.004< | 0.004< | 0.05 | mg/lL | % - B2
s SRS % 6 | 4 |30 | @ | & - | %
| ke e 023 | 006< | 3 |mgl| m | - | &
IR %iﬁ.ﬁ@ J 8 o000 g 0.00000{ 0.00000| 0 |mgL | # - 2
AT ;ﬁ;g *?fzi 02-| RAEER | 641 | 82 | 20 |mgl| = | - | &
ﬂég 0| B 28 ;g:ﬁaqc@ ‘ 115 7 20 [ mglL| & - 2
ol 18918 BigsFRmG | 340 | 005< | 1 |mgll| 7 | - | &
e -2002) BA (UNIP | 1244 | 112 | 20 [mot| & | - | &
s I 0.00009] 0.00009[ 0.01 | mglL | & | - | &
e 0.0002<[0.0002<| 0.1 [mgL| # | - | =
Bk 0.00012[ 0.00004 0.001 [ mgiL | # | - | =
BB (P | 255 | 007 | 1 [mgl| m [ - | &
o 0.0007<[0.0007<| 0.1 [mgL| w | - | =
il 0.0005 [0.0003<| 0.1 [mgL| # [ - | &
pH{E 66 | 681 | 6-9 |[£&a#| # | - | &
Z& (NH3- | 309 [ 0082 [ 5 [moL| w | - | =
S 50 | 006< | 1 |mol| # | - | &
* K mmne 45000000 <20 [ 1000 [ AL | w5 | - | &
WmaE | 220 10 50 |mgll| & | - | £
Wi MM | 0.004< | 0.004< [ 005 [mo | 7 | - | &=
K e X 16 4 o [ @ [ & -[4&
ol KAk JSTES 12 [oo06< | 1 [mo| & | - | &
2o | 27805 |75 0000l gzakk |0.00000]0.00000] 0 | moll | & | - | s
e | K] BPIR oa TR ER | 932 | 23 | 10 |mol| & | - | &
(= | @E 08 [ mwm | 114 | 7 | 10 |mgl| & | - | &
jﬁz 18918 WiBs 7MW | 294 | 005< | 05 |mgll| & | - | &
7 -2002) B (BINGE) | 38.1 11 15 | mglL | % - =
s I 0.00009[0.00009[ 0.01 | mglL | & | - | £
e 0.0002<[0.0002<| 01 [mgL| w | - | =
Bk 0.00088] 0.00006 [ 0.001 [ mg/L | % | - | =
X (LPi) | 330 | 018 | 05 |mal| # | - | &
A 0.0007<[0.0007<| 0.1 [mgL| # | - | =
il 0.0004 [0.0003<| 0.1 [mgL| = [ - | &
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F I R %ﬂiﬁ ap/] W E &5 REC | R PR (FRAER A | Eir | £F P
% 2% | ek | B8 MER | 4R il fr | & | 5% | &5
pH1E 7.04 6.68 | 6-9 |LEH| - 2
Z& (NH3- | 292 | 0.460 8 |mgl| & - 2
SN 4.81 0.56 3 |mgl| & - p
W FAMpEEt |56000000 <20 [ 1000 | AL | 7 - 2
T 2 210 30 60 | mg/L | & - B
ok AN 0.004< | 0.004< | 0.05 | mg/L | # - 2
%H TS 053 16 4 30 & o - &
PR 2 KA 2 FeRiES 0.78 0.08 3 | mgL| % - )
(ﬁ?ﬁ " ;;3 %ﬁ; 2022 f H R 0.00000( 0.00000 | %K mg/L | 7 - I
A ﬂm‘a‘ Pty -04-| HHAMLFTA | 91.7 8.5 20 [ mglL| # - 7
A (GB 12 Bz 107 7 20 | mglL| & - 7
G 18918 PIE 73RS | 373 | 005< [ 1 |mglh| & | - | &
KAk -2002) M (LINd | 36.2 5.68 20 [ mglL| # - p
T ke 0.00009( 0.00009| 0.01 | mg/L | 7 - B
—H Mk 0.0002<| 0.0002<| 0.1 [ mglL | % - 2
) Yok |0.00007|0.00004]|0.001| ma | & | - | £
B (LIPTE) | 412 0.29 1 | mgll| % - i
S 0.0007<| 0.0007<| 0.1 | mglL | % - 2
S 0.0014 | 0.0008 | 0.1 | mg/lL | 7 - 2
pH1E 6.54 715 | 69 |LEH| & - 5
ZA (NH3- | 284 | 0.275 8 |mgl| 7 - 7
S 1.34 | 0.06< 1 | mglL| # - 7
FA M E R |45000000 <20 | 1000 | AL | 7 - p
2 160 14 50 | mg/lL | % - 2
W AN 0.004< | 0.004< | 0.05 | mg/L | & - B
JeHE W 053 16 4 30 JE o - I
A o | KRR ik 0.06< | 0.06< 1 |mgl| & - 2
kg | FEARTE = e p 2
V5 KAk w5022 LR 0.00000| 0.00000 [0.0000| mg/L | 7 - )
ﬁﬁﬁ G %ﬁ@ﬁ -04- | LHAMTE [ 70.1 3.8 10 | mglL| % - 7

/NG | AwiE —

- IKHET (GB 14 B 114 8 10 |mglk| % - 2
S L FT-FYY Mg %% | 288 | 005< | 05 [mal| & | - | =
KAk -2002) M (LIN | 35.3 4.36 15 | mg/lL | % - 7
o ke 0.00009[ 0.00009 [ 0.01 | mgiL | 7 - I
Sk 0.0002<| 0.0002<| 0.1 | mglL | 7 - 2
MR 0.00093( 0.00004 [ 0.001 | mg/L | 7 - =
S (P | 5.21 0.20 05 [ mglL | % - 2
=X 0.0007<| 0.0007<| 0.1 [ mglL | % - 2
S 0.0016 | 0.0008 | 0.1 | mglL | 7 - 2




